IleTannpoBKa 1 N1CT 3anacHblx Yacten FROSP AF-9021C

No. Description Description Description Description
51| Boll MBx16 Cylinder 1 Compressed Spring | Bolt M4x42 1
tr | Air Detiecior gumper Outer Lane i Safely Yoke | Safely Pipe 1
13 | Dellector Rubber Bumper 1 Bolt M5x10 I Pusher 1
1+ | Spring Cylinder Washer 1 Spring Washer 5 4 Spring 1
t | Spring Wire ! Gun Body 1 Fiat Washer 5 3 Latch Spring 1
v | BoitMEx20 § Trigger Valve Seat 1 Salety Nose ] Release Lalch H
it | Spring Washer 6 § O-ring 15%2.65 i Adj. Nut 1 Pin B4=25 t
tg | Flatwasher6 4 O-ring 16%1.6 1 Copper Collar 1 Spring core i
12 | Cylinder Core ] Trigger Valve Guide ! Safety Nose Case ! Safety Pipe Case |
.0 | Bolt M5x5 O-ring 6.2x1.8 ] Q-ring59=1.8 \ Bolt M5x14 2
.. | Cylinder Cover O-ring 6 4%2 | Drive Guide ! Nut M5 3
i | Head Valve Assembly O-ring 9x1.8 i Spring Washer 8 4 Washer 5 1
11| O-ing 56x3.1 Switch Spring 1 Boit M8x25 4 Fixed Seat !
1| C-ring 41.7x3 Switch Pipe 1 Pin 3x18 1 Bolt M5x25 1
1: | Spring Washer O-ring 2.4x1.6 1 Bolt M6x12 2 Rubber Handle Case | |
‘¢ | Compressed Spring Q-ring 18x2.65 1 Lock Spacer i End Cap Washer 1
.7 | Spring Seat Swilch Seat L Magazine 1 £nd Cap 1
13 | Collar Pin 325 1 Boit M4x8 1 Flat Washer C5 3
¢ | O-ring 42.5%5 Trigaer 1 Washer 4 ! Bolt M5x20 3
2| Main Piston O-ring 1.7x2 L Nut M4 : Air Plug !
5| Oring 57.5%3 Safely Spacer | Plate Case ! Air Plug Case
2 | O-ring 88x3 1 Pin 3x16 ! Drive Nait Bar 1
12 | Fixed Ring ! Safety Guide ! ! | Bolt M3x4 )
4 | Sealing Ring | Pin 3%26 ! i | Plate :

Mopenb: AF-9021

Bepcusi 01: 2021.0310  Hetanvposka 0bHoBneHa: 2024.04.08





 
 
    
   HistoryItem_V1
   PageSizes
        
     Range: all pages
     Size: 8.268 x 11.693 inches / 210.0 x 297.0 mm
     Action: Make all pages the same size
     Scale: Scale width and height equally
     Rotate: Clockwise if needed
      

        
     D:20210615114118
      

        
     AllSame
     0
            
       D:20210615113741
       841.8898
       a4
       Blank
       595.2756
          

     Tall
     1
     1
     0
     742
     235
    
     qi3alphabase[QI 3.0/QHI 3.0 alpha]
     CCW
     Uniform
            
                
         AllDoc
              

       CurrentAVDoc
          

     Custom
      

        
     QITE_QuiteImposingPlus4
     Quite Imposing Plus 4.0g
     Quite Imposing Plus 4
     1
      

        
     1
     0
     1
      

   1
  

 HistoryList_V1
 qi2base





